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AL0 =WINNER(C)*100&gt[]

900

A200 =100*VOL/(FINANCE(7)/100)&It[]
30

A30 =(C-REF(CO 1))/REF(CO 1)*100&It0]
00

XGO AL AND A2 AND A3
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AA050 =MA(CO 5)0

AA300 =MA(CO 30)0

MAO050 =MA(CO 5)0

MA100 =MA(CO 13)0

MA300 =MA(CO 34)0

0 0 50 =SMA(EMA((MA05-REF(MA050 1))/REF(MA050 1)1 3)*1000 30 1)0
00 050 =EMA((C O 5-REF(0 O 50 1))0 3)0
00000 0=(C-AA05)/AA05*1000]

00000 00=(C-MA30)/MA30*1000

MR =COUNT(CROSS(0 0 0 O O 0 0)0 3)&gt0
=1IANDO O O0000 &gtO
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REF(0 000 000 1) AND AA05&gtD
REF(AA050] 1) AND (C/REF(CO 1)-1)*100&gt0]
5 AND REF(CO 1)&ItD

AA300

XGO FILTER(MRO 10)0
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DIFFO =(EMA(CLOSED 12) - EMA(CLOSED 26))0
DEAD =EMA(DIFFO 9)0

CROSS(DIFF DEA)C

0000000 00O00OO0
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VAR1O =C-REF(CO 1)0
VAR20 =100*EMA(EMA(VARLO 6)0 6)/EMA(EMA(ABS(VARL)D 6)0 6)1
MA50 =EMA(CO 5)0
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MA130 =EMA(CO 13)[

UPO =DRAWLINE(L=LLV(LO BARSLAST(CROSS(MA13 MA5))+1)J LLV(LO BAR
SLAST(CROSS(MA13[ MA5))+1)[0 H=HHV(HUO BARSLAST(CROSS(MA50 MAL13))
+1)0 HHV(HO BARSLAST(CROSS(MASL MA13))+1)0 0)U

DOWNO =DRAWLINE(H=HHV(HLO BARSLAST(CROSS(MA5[] MA13))+1)[d HHV
(HO BARSLAST(CROSS(MA5 MA13))+1)0 L=LLV(LL BARSLAST(CROSS(MA13[]
MADS5))+1)0 LLV(LL BARSLAST(CROSS(MA1300 MA5))+1)0 0)OJ

HRO =HHV(HIGHO 55)0

HRYO =LLV(LOWO 55)0

HRY1100 =HR*HRYO

HRY330 =SQRT(HRY11)[

00 0O =(LLV(VAR20 2)=LLV(VAR20 7) AND COUNT(VAR2&ItO

00 2) AND CROSS(VAR2L MA(VAR2[ 2)))

ANDREF(DOWNO 1)REF(DOWNL 1)

0 0 0 =REF(DOWNO 1)REF(DOWNL 1) AND C

0 0 0O =REF(DOWNO 1)REF(DOWNL 1) AND C
O0D0000=00+00+00 &gtO

o]

xg count() O O O O O N)&gt

oQd

{N==00O0}
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RSV =(CLOSE-LLV(LOW 35))/(HHV(HIGHD 35)-LLV(LOW 35))*1000]
KO =SMA(RSVO 50 1)

DO =MA(KO 7)O

E0 =MA(KO 3)0

)0 =3*K-2*D00]

VAR1O =(2*CLOSE+HIGH+LOW)/40]

VAR20 =LLV(LOWO 34)0

VAR3O =HHV(HIGHDO 34)0

00000 =EMA((VARL-VAR2)/(VAR3-VAR2)*1000 13)01
00000=EMA(0.667*REF(0 0 0 0 0 1)+0.333*0 0 00 02)0
000 CROSS(O O OO O30)AND OO0 00 &itD
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https://www.gupiaozhishiba.com/read/37781968.html
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